V/II/MMXXI
Converting Mixed numbers in to Improper Fractions

Please read the PowerPoint and then have a go at these questions. Choose the level you are comfy with. If you complete around 6 questions easily, check them and they are correct move on to the challenge questions.
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Write the next five pairs

of numbers in each

number line.
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Use your number lines
to write these improper
fractions as mixed numbers.
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Use your number lines to
write these mixed numbers
as improper fractions.
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Change to mixed numbers.
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Change to improper
fractions.
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Write as both mixed numbers
and improper fractions.
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Change to mixed
numbers.
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Fill in the missing numbers.

How many different possibilities can you
find for each equation?
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Compare the number of possibilities you
found.
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Three children have incorrectly
converted 3 % into an improper fraction.
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What mistake has each child made?
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There will be 4

solutions for fifths.
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Annie has
multiplied the
numerator and
denominator by 3

Mo has multiplied
the correctly but
then forgotten to
add on the extra 2
parts.

Dexter has just
placed 3 in front
of the numerator.




